J CL\AF"'&F 3 - Functions

_Lung.s, 49, [ne, e eaum’:'on ﬂ-mx-fb

Jm&; = sl sz He dus

(m> o)

b = ‘Vunieccepfr (where i+ crosses +Lg. J—-ms)

Line. st Fos e S(ol)e,

Liwe wH« negﬂ.uz .S/afe
(<o)

LF g -
83, - Lines and Lyear Finctions .
e will desceibe polats and Ives 3 Cordestan
| CooCdinates (ﬂc.g) ¢
o’ - C.oOf“ciMc\.'lc, '(10»-/ »ﬁ_r .&fé A‘;qk'ﬁ ,__
o i l{ COO“AMQ'{‘t JM&!‘_&?/C‘U: n
Quadcoatr I -13) _f:j__ Quadsomt T
’ -51'") . X oK N
i B o Tl v 3 5 ’ X -
G I ey
o Quedeany L Qu&vgm’r s ol
K‘j-axts




_.;G;;uen_.mja&-ﬁ_@:ﬁ Y, (2, ye) m_ﬂ;,,,[,énc_.__T__WL,, can
. ___ca._(gulﬁic,_ﬂa.eiifo)?g_ s )

.H}ﬁ[o.p& = Xihe = _Q@tgf--—-iﬂ—-‘tr R

] __ Cwn ,ahaad.e. fn X . _ i S

] mes Yoy, [

X =X,

* Horizontal (nes have .Sfa]cz:_ = O_ .
_* Vertical lines MLM&J!.LJ[G[M: “ (we Say b s undefned)

L hawe the Same slope

Two  [lnes ppe rﬂid_-,f ‘H\ég | . i —

-

N
Py, %

_.ﬁ;_la@s _Slope. m_pad the other has
- ;v_k o TheY meet at J0°.

Tl:Ja lnes are gﬁ% M@PJ_.OMLf ___x )

o JA)\flﬂi'_-}'gpﬂ "Q.E %M;A‘og_iam We GSK cbout lines?

- N

4!‘7 e e — ST e e — — — —

e ——

=ik R
I

S () P equatun of a lne Yhtwgh 2 givea poirde

L 2) Pl quation of a lne with Shpe M, pascing
i 'H\(\OQBE.MA‘ Si'u‘e,n ..?on\t\:f (ZeTH..o) ,,,,,,, g P ~ hg

L 3) Find equabion of o lne Fhrough et (o Hhat 35

,fato.l(e.l _or ,,rerf_en_d%cu,(ar Yo a given [iae.




k(_ﬁg;ihLﬂ;iﬁgm44#huhmg&%%wlt)mg(%)

___f_k S,.(ob'l" ga !

|

Need - *H_\J\giﬂ; - S’/ﬁgc

—

ﬂ il -I-ergp-f" Jb

11_ Use He S[oFa qpof‘Mu.lm :ﬁw w

Mm: Yy

|
I

‘2.'&{

5

-

~

_q_+___h_4ufm_ e
|

L LJLﬁ_?_M
2

S

‘I’AC line

S

U= Ix+b.
)

(a jeé é ﬁ(%j_,h_@jﬁg&%o.‘ﬂfn Wﬁ’j/‘da_(éfj-_

b=> 5=2()+6 = bes-2-[3]

t»f = 2x+
[4 : ﬁ_m; Bk

lbre s "-(;ZX+3

%__J&_E&d

I

- Paraae/ to f#_‘g_x i

uaéwn oL;H\ﬁ M& ‘[:ﬁ!mm/\ (GI) a.ml -

So whon

—

FPacalle/ ,mg’-_s,imiﬂ@;gm r—e;, s0

. The %L—miegc_agf L_ﬂfﬁ Ld_ffemmﬂ_ -

]
a
|

.

Se

67 Bllrb 3 b 6% = M- 2[lp]
}_ W:‘_ ki 74 uﬂ-'éton tS :_‘j_x-}-__l_i -
T« :j _ 3 3

ujﬁM& mi@)) ‘La owr Af_ﬁq{.\da LE kY x+5




\
|
|

|

L LEX' Fad the euation of fhe lme Hhoough (1-4) and

. loe Dendccu(n.r- \)—Q Zj -7 =1 o

‘ S
w_’;og@mm_ Hom... What's the slepe of 2y~7x =1 7

| Le'(-S / -

f write i+ n He :'JCol\M J mXx “'-b.

| B
| Zu—7x71@ Zq=7x4-li?’ W= Z2x% 4 |

N

Aha! This [ve has S(OP& % . Kues durs s per:gmi.;ra}
. slope i3 - )

5 m = :J = ’i é [ o _:
“1 . (m) | 7 .

tgr Xt o ® -z ¥ )+
LAl _ B SHe=qd4b . s b=lo]
B -
— 1 QOur Ive s |y=-24x]|
1 = -
I
o J_@gfhl\riJLLmei - ] ;_ : ) B .

To mk o l.\n&) Ij.ztcm 7.. omis on._ ‘Hlt lme,
J!.néj rirmcof: them . F - .

X Groph 4= 2 f__*

7___.5,4&5*04} The Y- ,\;meFPg b b1 -
¢ it fasses 'Hr@uak {o,4).
U =2{1)+1 ]

CAF x= 1 ,,,,,,
S0 i F@ssn %maL (1, 1)

'-j___ :

_’_ —




(- Detecmising whore 2 Lines Meet : -

o ff‘.\na where 2 [ines m-#crsect'} pzuafc Hee v

Volues and  sq(ve {;.e % .

Ex! Fund +Hhe pont ot which Y= xtl intersects &4=~X+3_

n

Solution : X+ [

W 2 =34 So we get
J / )

X+l = -x+3 = 2y 4 =23

= e 22 .

= w=1

71{’ [ines cross Lohen x=1 PluJ in S velue tads
either |ine ;I:Ljef qdf

» _%s_x»‘ 1 = Y= 1+1 =p2

The Po.\nf' o-f 4ersec t5on s (i,.Z)-‘




